% a 9] & Fotol

ax+5 A £(2) =9 € o, A

.

ul
RO

A

N
I
|l Tov)
+ +
= 3
S
Il
—
9\
~—




Ax}5HEE y = 9x + 4 9] FHE%
AA 9Hd-E AV o=
Tatolzt,

lil
ok,
_V,L
e, s
o
=
O
ol o
o,
o o
s

=
[=

4
D pal= —4

oH .

+
Hel o] 5 T4 y = 9x+ 4+ pol T

= (I, )= ]L}E§0:9x(0)+4+p,
p=—4°Itt.
et 48S AUA st w y=9] o] e r —4vE 3
ol FA| Aok et




y d®o] _gojmg
y=3x+b A b= -9 o|t}.

y=&—9ﬂﬁx§%x=—&@=3




A} y = 3x—4 919] o[ T Ho| ;] (k, 2%) 23 T o],
ko) gHe Fofodl,

> E.

y=3x-49 I} Qo A (k, 2k) 7} JoBZ,
2k = 3 x k —4°]t}.
k=4




ne,
1

%Io}%T}Zq_E}XJrS M xd¥Sa,ydlSbHL L W, a-b
= Tofof=t




